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The Ultimate Trigonometry Revision
In APQR, £Qisaright angle. Iftan P = 410, find the value of sin P.
Find the value of 6 if cos8 = sin35°,
Find the value of 8 if sec51 = cosec(26 +17).
Find the value of cosec22° (correct to 4 d.p.).

Find the acute angle 8 (to the nearest minute) if secd = 1.2230.

X
16°24"

135

Find x (to 1 decimal place).

Find x (to 1 decimal place).
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The larger diagonal of a thombus of side 6cm is 643 cm. Find the size of the acute angle formed by
adjacent sides of the thombus.

In the diagram below, find (to the nearest cm’) the area of AABC, given that the area of ACDE is 20 cm.

Find 6 (to the nearest degree).

Find the height of a street light if it casts a shadow 11.8m long when the elevation of the sun is 36°14".
Round your answer off to 1 decimal place.
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The bases of a tower and a building are on the same level. The distance between the two bases istwice
the height of the tower and the angle of elevation of the top of the tower from the top of the building is
20°. Prove that the tower is (approximately) 3.7 times as high as the building.

From a plane, the angle of depression of a boat 12 000m away (measured in a straight line) is 6°25".
After flying some time on the same course, the angle of depression of the boat is 12°43'. Find (to the

nearest metre) the distance x metres of the plane from the ship (measured in a straight line) at the time of
the second observation. _ .

From the top of a tower, the angle of depression of the top of a tree is 15°. The angle of elevation of the
top of the same tree observed from the base of the tower is 10°. Ifthe distance between the base of the ,
tree and the base of the tower is 100 m, find (to the nearest metre) the height of the tree and the height ¢
the tower. ~
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Find the bearing of B from A (to the nearest degree).
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A ship is 3.6km from a lighthouse on a bearing of 215°. How far west (to the nearest tenth of a
kilometre) is the ship from the lighthouse?

A patrol boat is sailing on a course bearing 030°, 2.3km due south of a tiny island on which survivors of
a shipwreck are waiting to be rescued. They have built a small fire hoping to attract the attention of any
passers-by. The light from the fire is visible for 1.2km. If the patrol hoat maintains its present course,
will the survivors attract the attention of the patrol boat? Give reasons.

Find the exact value of sec30°.
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cos30°

Find the exact value of ————
cosec30° + cot 45°

o
Prove that __taiﬁﬁ—_ = cos30°.

2 sin45° sec45°
Stmplify (sec’® -1)cot®.

Simplify sec ©cosd -tanBcosh.

Simplify JsecG cosecB tanf - 1.

Simplify (1 + sind) + (1 + cos)’ - 2(sind + cosh).

cotO cosecO

Prove that 5 0s0.
1+ cot“0
. 2
| + f 2
Prove that (____sme cose) =2cot cos 8 +cot 0.
tan®

An angle of 482° lies in which quadrant?

An angle of -179° lies in which quadrant?

In which quadrants does  lie if cosec is negative and secf is negative?

In which quadrants does 0 lie if cot® and sec have different signs and cos0 is positive?
Express tan265°24’ as a ratio of an acute angle.

Find the exact value of cosec315°,

sin2120°
(cotd20° + sec330°)?

Find the exact value of

Find the value of cas125° (correct to 4 decimal places).

6.2tan 92°16'

Find the value of (correct to 2 decimal places).

[cosec?8°10" - cot? (-187)°
V -(sin540° + sec3°07')

Find the value of (correct to 2 decimal places).

Find all possible values of 0 if cosf = L and 0 <6 <360°.

V2
Find all possible values of 8 if sec38 = 2 and 0 < 6 < 360°,

Find 6, to the nearest degree, if sinB = 0.809, tan0 is negative and 0 < 0 < 360°.
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Find all possible values of 6 (fo the nearest minute) if 3sin® + 8sind - 3= 0 and 0 < 6 <360°.

SolvecosB =-1if 0 <8 < 360°,
Find x. Leave your answer in simplest surd form.

759
L X 4

45°

In AABC, £B=12° a=19.2 andb=123.7. Find Z£C (to the nearest degree).

A hot air balloon is tethered at two points A and B, 50m apart on the ground. The line from A to the
balloon makes an angle of 23° with the ground, whilst the line from B to the balloon makes an angle of
35°. Calculate the length of the tethers and the height of the balloon (to the nearest metre).

Findx (to 1 d.p.).

Find the smallest angle of a triangle with sides 85.9, 63.4 and 105.2. Answer to the nearest degree. -

Find 6 (to the nearest degree).

7.7

A hockey player is 7m from one goal post and 8.5m from the other. A hockey goal is 2m wide. Within
what angle (to the nearest degree) must she "shoot" for goal to have a chance of scoring?

Tn AABC, ZA=60°,b=20m and ¢ = 12m, Find the exact area of the triangle.

Find the area of an equilateral triangle of side length 7.5¢cm. Give your answer correct to 1 d.p.
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